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A1l

A2

B1

B2
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1.a)...... b) — 2. a) Toilets for the disabled b) pedestrianised streets 3.a) 3Cb) 2B 4. a) The
coach station b) The youth hostel c) the police station and the School of Art 5. a) No b) Yes
c)No 6.No 7. a)above b) below 8. a) Magdalen Hill b) St. Cross Road ¢) Worthy Road 9.
a) A272 b) B3420 10. a) a park b) St. Giles Hill 77. 160 yds/145 m

The bus station

1.2) mam b) _\l/_ c) X d) ™ 2 a) motorways under construction b) youth hostels

71\
c) other places of interest d) railways 3. a) golf b) horse racing ¢) motor racing d) yachting e)
water skiing f) canoeing g) skiing h) rock climbing 4. a) spot height in feet b) distance
between symbols in miles c) distance between symbols in kilometres d) number of motorway

interchange e) motorway 5. a) No, for main roads only b) i.) lower ii.) higher 6. a)
1:200,000 b) 200,000 cm (=2 km) c) 1.6 km

1. a) Luton (London) b) Welwyn Garden City c) Hatfield d) London Colney 2. a) Dunstable b)
Luton c) Hitchin d) Letchworth e) Stevenage f) Welwyn Garden City g) St. Albans h) Hemel
Hampstead 3. St. Albans 4. a) A house or garden open to the public b) A cathedral c) A
castle d) i.) A golf course ii.) A house open to the public 5. a) by road b) by railway c) by
canal 6. Yes (but disused) 7. A651 (NE/Sandridge); A414 (E/Hatfield); A6 (SE/South
Mimms); A5 (NW/Redbourn) 8. Near Interchange No. 12 9.a) 8 b) 12¢) 9 170. 614 ft 11.
a) Near Great Offley b) At the junction for St. Paul’s Walden 72. 11 m (18 km) 173. The
distances (in miles and kilometres) between Luton and Baldock 74. 7 m (11 km)

East Hyde

1. a) Mountain b) West North Central c) East North Central d) Middle Atlantic e) New
England f) South Atlantic g) East South Central h) West South Central i) Pacific 2. a)
Vermont b) New Hampshire ¢) Maine d) Massachusetts e) Rhode Island f) Connecticut 3. a)
South Atlantic b) Middle Atlantic 4. Alaska and Hawaii 5. a) 3,000 m (4,800 km) b) 1,600
m (2,560 km) c) 102,600 square miles (262,600 square kilometres)
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D1 B) 1. a) sheep, cattle, hogs, wheat, oats, barley, gold b) coal, natural gas, sheep 2. Industrial
3. Agricultural 4. a) East b) South 5. a) West South Central b) Mountain 6. a) Nebraska b)
Iowa c) Illinois d) Indiana e) Ohio 7. Pennsylvania, West Virginia, Kentucky, Illinois,
Indiana.

D2 (Simboli usati:

7
® =coal a8
A =iron .
e * = oil :

O = natural gas)

E 150 260 3.8 42 5. 6. England 7. Wales 8. England 9. Scotland 10.-—-—-
11. Northern Ireland 72. Eire (The Republic of Ireland) 73. South 74. East 75. Dartmoor
16. Exmoor 17. Cambrian 18. Pennines 79. Cheviot Hills 20. Scotland 21. Ben Nevis
‘ 22. Scafell Pike 23. Snowdon 24. Slieve Donard

F1 2. a) clear, with breezes from the north-east b) very cloudy, with gales from the south-east c)
calm, fog (sky not visible)
3. :
Place Sky Wind Tempe- Precipitation
Speed Direction L {F anyg}
1. London clear breeze North-west 21 —
2. England/North-east rather ?
cloudy breeze South-west —
3. Scotland/North overcast strong South-west 16 rain
4. Ireland/North-west rather rain and
cloudy gale South-west 17 SROWols
5. England/South clear calm — 20 o
6. Scotland/South overcast breeze South-west 15 drizzle

4. a)% b)/O c) ;
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F2

G1 a) Temperate West Coast b) Tropical Monsoon c) Continental d) Mediterranean e) Cold
Temperate

mmmmm Mediterranean D:[D Cold Temperate Trop. Maritime
Trop. monsoon E Temp. East Coast E Continental
BB equatonial E== Warm Temp. East Coast === Temp. West Coast
D:D Tundra Trop. Wet-Dry

H1 1. a) 8° b) 90% c) 1,000 millibar d) 2.5 mm 2. a) Jan. 5th b) Jan. gth ¢) Jan. 8th
3. Jan. 5th / precipitation / 10 mm
Jan. 5th / minimum temperature / 3°
Jan. 7th / air pressure / 1,010 millibars
Jan. 8th / maximum temperature / 6°
Jan. 8th / relative humidity / 80%
Jan. 6th / precipitation / 2.5 mm
4.a) 7 b) 5 (Jan. 9th) 5. a) between Jan. 6th and Jan. 8th b) between Jan. 8th and Jan. 9th 6.
Jan. 8th/Jan. 9th
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B. Verbs: down (to decrease, to fall), up (to increase, to rise); Nouns: down (decrease, fall),
up (increase, rise)

I 1T 2F 3T 4T 5F 6F 7T 8T

J1 1. From «La popolazione scolastica italiana nell’anno 1984/85», Notiziario dell’Istituto
Centrale di Statistica 2. a) 1,620,000 b) 2,798,000 3. a) Primary b) i.) Secondary ii.) Nursery
c) Secondary 4. a) 1980/81 b) 1971/72 c) 1980/81 d) 1984/85 5. 1980/81

J2
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J3 1.1984/85 2. a) 29,000 b) 28,000 c) 10,500 d) 7,500
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J5 a) Technical schools b) Licei c) Professional schools d) Teacher training schools

J6
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